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Q. P. Code: 27286
(3 Hours) (Marks: 80)
N.B.: (1) Answer any four questions out of the six questlons

(2) Figures to the right indicate full marks. Rt
(3) Ilustrate answers with neat sketches where ever. requtred
(4) Answers to the questions should be grouped and wntten together

(5) Assume suitable data if required.

1. (a) Consider the problem for Graphical Method

Min. Z = -Xi+2 X2
Subject to,
X 3 X510
X+ X2 < 6
X;-X2<52
X1 X220 : ; T
(b) Discuss the advantages: andhmltatlons of sunulatlon g R AR T e 1
2. (a) Solveby BigM method . " - - AT S T e A 10
Minimize z = 20 X1+10 Xz e
Subject to-

X’I + Xz ?‘40

(b) The ann al 'emand of a product made bya company is 10,000units to a 10
certain stc cklest e Cost « ‘of placmg an order is-Rs:300. The item costs
5201 ce and.-the mventory cost‘per umt 18 20‘% of the item cost. The

N

10

xplain 1 dotall ‘the. structure ‘of queuing system describing each element 10

f quéu with suitable; example.

) ¢ the optimum basic feasible solution to the following 10
ation . ‘problem. Find basic feasible solution by Vogel’s

:atloanethod and optimum solution by “uv ” method. .

| A | Available
50 | 1
HE 3

| 250 | 4
4| l
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(b)

(2)

(b)

(2)

Solve the following Assignment problem for minimiza\t‘i’@g-; g

I il
1 11 17
2 9 7|2
3 13 16 <
4 21 PTPRE L
5 14 0.0 218

Use two phase simplex method to solve fo]lowmg probiem
Maximize Z=5 X, +3 X, e -

Subject to the constraints %

Xi+4 Xz ;

X, X2 > =0 - . _

Provide the optimum job sequencmg mvolvm thre e':machme :

order M, M2 M ) for the: foIlowmg 3

Tob s S S E RS TR
Time on M, o OO 12 R
Machines | Mj 8 9
Myt 8 2 O TS
1. Consider the LPP and solve by Slmplex method: 10

Maximize Z = 4X1 + 3X2 +‘6 Xy 2
Subject to e

Markets

I I11
50 50
60 60
65 70
75 80
85 88
05 105
110 115
120 130
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